	
	
	














ECONOMICS

WELCOME TO A LEVEL ECONOMICS 
There has never been such an interesting time to study Economics. Through A level Economics you will understand the impacts of national and international events, and discuss the ways that the government can overcome the challenges ahead.  
Thank you for taking the time to look at the Headstart in A level Economics Booklet. I hope that it will inform you about the content of the course, the skills needed to support your learning, and that it will help to prepare you for the exciting journey ahead. 
Have a great summer and I look forward to meeting you, 
Liz Voice (Course Manager Economics) 

WHAT WILL I STUDY?

	MICRO:Individuals, firms, markets and market failure 
	MACRO: The national and international economy 
 

	· Economic methodology and the economic problem 
· Individual economic decision making 
· Price determination in a competitive market 
· Production, costs and revenue 
· Perfect competition, imperfectly competitive markets and monopoly 
· The labour market 
· The distribution of income and wealth: poverty and inequality 
· The market mechanism, market failure and government intervention in markets 
 
	· The measurement of macroeconomic performance 
· How the macro-economy works : the circular flow of income, AD/AS analysis, and related concepts 
· Economic performance 
· Financial markets and monetary policy 
· Fiscal policy and supply-side policies 
· The international economy 
 


SUMMER TASKS  
1. Complete the Initial Numeracy Assessment    1 hour
2. Introduction to macro and micro economics. Complete the activities. 2 hours
3. Economics in the news – carry out some research, pick 3 articles and produce a short report or mindmap. 2 hours
4. Use the context to answer the exam questions. 1 hour
Please bring your numeracy assessment, mindmap and essay to the first Economics lesson.
TASK 1 - INITIAL NUMERACY ASSESSMENT. This should take around 1 hour.
This assessment includes some exam questions (multiple choice).
 You may need to use the following formulae to help you:
Fixed costs + variable costs = Total Costs
Revenue – Total costs = Profit
Average costs = total costs / output 
Revenue = Price x Quantity
Variable costs are costs that change with output
Fixed costs do not vary with output.

1.  Simon owns a small juice bar. His two most popular juices are ‘red juice’ and ‘green juice’. Each juice has different ingredients. The cost of ingredients for ‘red juice’ is 60p per juice. The cost of ingredients for ‘green juice’ is 40p per juice. Simon sells 50 ‘red juices’ and 80 ‘green juices’ per day.
Calculate the daily cost of making the red juices.
Show your workings here:





2.  The price of each juice drink is £2.30. Assuming Simon sells the quantities stated in Q1,

i)  Calculate how much revenue Simon earns in one day from selling ‘red juice’ and ‘green juice’. (revenue = price x quantity)
ii)  Calculate the profit Simon makes (profit = revenue –costs).
Show your workings here:


3. Simon decides to increase the price of his juice drinks by 20%. Sales of ‘red juice’ fall by 10% and sales of ‘green juice’ fall by 5%.
Calculate Simon’s new level of revenue.




4.  Geoff sells a house for £650,000 in Harrogate. The estate agent is paid 1.5% of the selling price for her services. 
Calculate how much she is paid. Show your workings here: 




5.  Geoff buys a new 1-bedroom apartment in London with the proceeds from his house sale in Harrogate. The apartment costs him £500,000 to buy. This time he has to pay Stamp Duty tax on his purchase. Stamp Duty tax at this price is 3%. 
How much stamp duty tax does he pay? Show your workings here: 




6. [image: A table with numbers and text

AI-generated content may be incorrect.]




7.   The boss hires a sixth employee to the business. The employee is highly experienced and very skilled. As a result, she commands a relatively high salary of £26,000.
 i) Calculate the extra cost of the additional employee. 
ii) Calculate the change in the mean average salary in the business.
 iii) Calculate the new median average salary for the employees of the carpet cleaning business. 
Show your workings here: 

8.Nomo takes a loan from a payday company. Nomo takes a £300 loan at 0.8% per day. 

How much will Nomo owe the lender after a week? Show your workings here: 






9. A British-made car costs £20,000. The current exchange rate is £1 (UK pound) to $1.30 (US dollars). 6 months ago, the exchange rate was £1 to $1.50. 
Calculate how much the £20,000 car costs in US dollars i) now and ii) 6 months ago. 
Show your workings here: 










10. Canada has a population of 36.2 million people. Canada has a total national income of $1.6 billion. Calculate the average income per person.
Show your workings here:







11. 
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13.  Antonio sells ice creams in the local park. In a typical week, he sells 500 ice creams at £2 each and his total costs are £700. One week he does not work, so he sells no ice creams but his total costs are £200.
What are his variable costs in a typical week?
 
	A
	£200
	[image: ]

	B
	£300
	[image: ]

	C
	£500
	[image: ]

	D
	£700
	[image: ]










14. The table below shows the total cost at different output levels for a firm.
 
	Output (units)
	Total cost (£)

	1
	10

	2
	16

	3
	21

	4
	24


What is the average cost of 3 units of output?
 
	A
	3
	[image: ]

	B
	5
	[image: ]

	C
	7
	[image: ]

	D
	63
	[image: ]

	
	
	


15. Ben owns a small business that makes hand-made guitars.
One year he sells 160 guitars, his total revenue is £78 400, and his total costs are £59 200.
The average profit that Ben earns on each guitar is
 
	A
	£120
	[image: ]

	B
	£370
	[image: ]

	C
	£490
	[image: ]

	D
	£860
	[image: ]



16. Claire’s sweet stall in Chorley market sells sweets in 100g bags. She has the following costs of production:
 
	Stall rental
	£25 per day

	Sales assistant’s wages
	£32 per day

	Various varieties of sweets
	£0.26 per 100g

	Paper bags
	£0.01 per bag


Assuming Claire sells 100 bags of sweets per day, what is the average cost of a bag of sweets?
 
	A
	£0.57
	[image: ]

	B
	£0.59
	[image: ]

	C
	£0.83
	[image: ]

	D
	£0.84
	[image: ]



17. A firm manufactures and sells fresh fruit drinks. The firm sells 200 bottles of fruit drink each week; its weekly total costs are £540, which includes £300 of fixed costs. The drink is sold at £4 a bottle.
A rival firm drops out of the market and sales increase to 250 bottles a week. Other things remaining the same, profit per week increases by
 
	A
	£65
	[image: ]

	B
	£125
	[image: ]

	C
	£140
	[image: ]

	D
	£400
	[image: ]






18. One week, a business has to pay £80 interest for its loan, £95 for raw materials and £210 on rent. If the business has no other costs, what are its fixed costs for that week?
 
	A
	£210
	[image: ]

	B
	£290
	[image: ]

	C
	£305
	[image: ]

	D
	£385
	[image: ]



















TASK  2 – Watch the videos on economics, and complete the student activities. 
You will need to use the link below to access the videos and student activities on- line. 
This should take around 2 hours.

https://www.tutor2u.net/economics/reference/head-start-economics-introduction-to-macroeconomics

What is the Difference between Micro and Macroeconomics?
What is the difference between micro and macroeconomics? This short video explains the difference for all students just about to begin their studies of Economics

Microeconomics considers the economics of everyday life, the decisions that we as households take and the impact of businesses in different and often related industries.
Macroeconomics is the study of the economy as a whole and it also analyses the global (international) economic system.

[image: ]




Measuring Economic Activity - Gross Domestic Product
In this second introductory video, we introduce a key concept – gross domestic product – a measure of economic activity.

Gross domestic product measures the monetary value of a country’s output of goods and services. GDP remains an important indicator for many including the financial markets. GDP as a concept that dates from the second world war and the Great Depression when politicians wanted to have a measure that set out what was happening to the economy as a whole.
[image: ]

Try an Activity!
Can you get five in a row? You will be given five countries and have to decide whether their per capita national income is higher or lower than the preceding country! Good luck!
[image: ]
The Changing World Economy
In this video we build on our initial introduction to GDP (gross domestic product) to look at the largest economies in the world. We rank which countries are the richest and poorest in the world using GDP per capita as a guide. Finally we also explore how the balance of world national output is changing.
[image: ]

[image: A screenshot of a video game
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TASK  3 – Economics in the News Research Activity.
Use the following link to research Economics in the news.
https://www.bbc.co.uk/news/business/economy
Choose 3 articles and use them to produce either a short report or a mindmap explaining the key issues. Bring this to your first Economics lesson. This should take around 2 hours.
Examples of articles include:
[image: A collage of images of people and fruits
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TASK  4 – Use the context to answer the exam questions. 
ESSAY STRUCTURE FOR THE 25 MARK ESSAY
INTRODUCTION – include a brief explanation of the question – who gets a bus pass and who funds it?
YES ARGUMENTS– use the context to identify reasons why free bus travel to all or some elderly people is important. How will the individuals or the economy benefit?
NO ARGUMENT – use the context to identify reasons why free bus travel should not be given to all elderly people.
CONCLUSION – answer the question and justify it – should free buss travel be given to all, some or no elderly people?  Why have you made this decision ? What might it depends on?
[image: A white paper with black text
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QUESTIONS
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The owner of a small carpet cleaning business looks at the annual salaries of his five employees.

Employee 1 (duty manager) £32,000
Employee 2 £14,000
Employee 3 £14,000
Employee 4 £16,000
Employee 5 £18,000

i) Calculate the total expenditure on labour costs
i) Calculate mean average and median average salary for the five employees.
Show your workings here]
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The table below shows the total output figures for a firm as it adds more workers to its production

process.
Fill in the right-hand column.

Workers Total Output Output per worker
1 18
2 24
3 36
4 44
5 48

Show your workings here:
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UK migrants living in other countries (2017)
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i) Of the selected countries above, what percentage of UK migrants live in Spain?

i) ‘Compare the number of UK migrants living in Ireland compared to the number living in
Portugal.
Show your workings here:
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Micro and Macroeconomics

HEAD START TO A-LEVEL ECONOMICS

Introduction to Micro and Macroeconomics [Head Start in A-Level Economics - Video 1]
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Measuring Economic Activity

HEAD START TO A-LEVEL ECONOMICS

Measuring Economic Activity [Head Start in A-Level Economics - Video 2]
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You will be presented with a statistic. Your task is to state
whether the next statistic will be higher or lower than the
previous one. The maximum score per round is 4.

Gross national income (GNI) per capita (US$)
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The Changing World Economy [Head Start in A-Level Economics - Video 3]
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Try an Activity!

Do you have a decent general knowledge about the world economy? Try this tug of
war activity on unemployment rates in different countries!

Tag o Wer

You are ab o take part in 5 contests of tug of war. In each contest
you will be shown 2 pieces of data. Your task is to chose the ‘higher’

number (i.e. thw in a tug of war match). Maximum score for
this activity is 5.

Global unemployment rates (% of labour
force) in 2018

__START | titor2u
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Pledge to protect UK firms from
cheap imports
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When will interest rates go down
again?

'Dismal' month for supermarkets Bank holds interest rates but UK inflation rate: How quickly
pushes down retail sales hints at future cuts are prices rising?
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/

Chocolate prices soar as UK What is in the UK-US tariff deal?  The reality behind Trump's
inflation stays at highest in over a incredible investment claims
year
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BUS TRAVEL

Extract A: Take-up of concessionary bus travel schemes for the elderly in England by gendor

2005 2017
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Extract B: Why should the elderly be entitiad to free travel on buses?

Since 2010, both men and women have been abls o apply for a bus pass for free off-peak bus 1
{ravel when they reach the female State Pension ago, By Ociober 2020, this wil ise to 66

‘There used to be regional variations but thoro is now a national scheme, funded by the UK
government. For an annual fee, those over 60 aiso receive a third off most rai fares.
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What is the justification for letting elderly people travel on buses for free? Various social, 5
economic and environmental reasons have been given, covering both private and external

benefits. As well as the ability to visit friends and family, there is improved access to shops,

health care and other vital facilities. Many older people also contribute to the economy through
voluntary work or child care, the value of which has been estimated to be £10 billion and

£3 billion respectively. There is evidence that without free bus travel, a third of these journeys 10
would be made by car adding to congestion, air pollution and traffic-related accidents. Reduced
demand for bus travel could lead to fewer bus services, resulting in less availability for paying
customers. Currently, the additional ‘free’ passengers help to spread the fixed costs.

It has been claimed that each £1 spent on the scheme generates nearly £3 in benefits.

Research also suggests that the benefits go more to those on lower incomes and/or without a 15
car, helping to combat the effects of an inequitable distribution of income and wealth.

Source: News reports, December 2018
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Extract C: Is continued free bus travel for elderly people justifiable?

When the State Pension was introduced in 1948, a 65-year-old could expect to live another
13.5 years. By 2017, this had risen to 22.8 years. Recent figures predict that the number of
people over the State Pension age in the UK will grow by a third between 2017 and 2042, from
12.4 million to 16.9 million. Many of these pensioners have reasonable incomes.

Bus operators are paid to provide free bus travel on the basis that they are ‘no better and no
worse off’ as a result. Government spending on such travel is therefore based on demand.
Bus companies also receive subsidies to operate routes in rural areas which would otherwise
be unprofitable. However, with the squeeze on public expenditure, funding for these supported
services has been cut by 45% since 2010, whilst bus fares have risen by 13% above inflation
and over 3000 routes have been cut. With both central and local government looking to make
savings of billions of pounds, is free bus travel for the elderly as important, for example, as
educating children or emptying bins?

Both the take-up rate and number of journeys per bus pass have been falling in recent years,
so the free bus pass scheme for the elderly may still be workable. However, as fares continue
to rise, along with the number of people eligible for a pass, the basis for the scheme may need
rethinking. Perhaps the time has come to stop free bus travel for the elderly or to limit it to
certain groups?

10

15

Source: News reports, December 2018
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Use Extract A to calculate the difference in the median male and female take-up rates
of concessionary travel schemes for the elderly in England for the years shown.
[4 marks]
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Extract C (lines 16—17) states: ‘Perhaps the time has come to stop free bus travel for the
elderly or to limit it to certain groups?’

Use the extracts and your knowledge of economics to evaluate whether the UK

government should continue to provide free bus travel for all, some or no elderly people.
[25 marks]




